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(x+y) =A = std

A(A - 3z) - 4z2% = A? - 3Az — 47?
=(A-4z)(A+2)
=(x+y-42)(x+y+2)

L(x+y-4)+(x+y+2)=2x+2y-3z
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=y dyz- 42 =57 - (0 -z +42)
= x? - (y - 22)?
=(x+y—22)(x—y+22)
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(x+y)(x+y-4)+3
=AA-4)+3
=A2-4A+3
=(A-3)(A-1)
=x+y-3)(x+y-1)




4. (2x+y+2)2x+y+1)-(2x+y+ 1)? & ItH3] stojet.
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> el 2x4+y+1

2x +y+1=Agtal x| golH
(A+1)A-A2=A2+A-A2=A
=2x+y+1
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(FA) = (x—2y)> +2(x - 2y) - 8
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A2 +2A-8

— (A+4)(A-2)
=(x—-2y+4)(x—2y-2)




sfsholat

ro
&
Mo

6. xXX-2xy+y’ -b22
=t
| — ]

>
> HED (x—y+b)(x—y-b)

B

x2 = 2xy +y? - b?

= (x* - 2xy +y*) - b?
= (x-y)?-0b°
=(x-y+b)(x-y-b)




7. (a-b+3)?-(a+b+3)* S 73] g A7

@ -4b(a-3)

@ —4a(b+3) ® -8b(a+3)
@ —4a(b-3) @—4b (a+3)
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(a-b+3)?-(a+b+3)>
={(a-b+3)+(a+b+3)}
{(a-b+3)-(a+b+3)}
= (=2b) (2a + 6)

= —4b(a+ 3)




